Geometry CC Name:
Circles Review December 10, 2013 Period:

1. Identify each line or segment that intersects ©Q.

Chord(s): JSVZ, \{_T Secant(s): \{T Radii: 6:@, QL
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Tangent(s): |ine-S Diameter(s): U2

3. FE and FG are tangent to OF. Find FG.
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4, The circle graph shows the types of cuisine available in a city. Find the measure of arc TRQ.
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7. The gear of a grandfather clock has a radius of 3 in. To the nearest tenth of an inch, what distance
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does the gear cover when it rotates through an angle of 88°.
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8. Find the angle measure of ABCD.
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9. Solve for x. Assume all lines that appear tangent are tangent.
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10. Find the measure of the arc or angle indicated.

P Rl

L TouwdSide L 2z
T ! AT By I e, .'}‘{
a) / N T L o b) ~ ™, c) y r /} K
ff X L/ \ NP nsida .
L i ; ] S |
2407 Y, I =30 - 240 ¥ ‘\\”"“w.m% / %l f}\{g |
"’ 120° - o ¥\ /

outside L ='2(B-5)
X ='l2(20-120)  ZTuy ="12(134) Inside £ = '12-(8 +5)
239 =Ha(x+35)2

X=(60 LTUV = 63°| A A A

x|

1Lq = LX+’5\LQ~—S%LL&::-Q+.
QB = X +5

11. Find ST. Assumes lines that appear tangent are tangent.
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